=2diE=sSstn
20244 09& 022 ~ 2024 (098 08

098 02¢ (&) 09 032 (&) 098 04¢ (=) 092 052 (=) 092 06e (2)
S 1,025 SAA: 1,025 S 1,025 SAA: 1,025 SAA: 1,025
- E=EH =8 - 2020l A & =EH & =EH
- HIZEN(5.6.18 ESSHAXZXE  [(1.2.5.6.10.13.15.16) 22U &E=2(5.6) 2F5232(5.6)

- R G 2LR (5.6.9.10) - =M O X Q0|2&1(5.6.16) YREAERE(5.6)
. (5.6.10.13) FEULUSRE(5.6) (1.2.5.6.10.12.13.15.1| - =ROIMAES - LEeI 23D
f - BUS22E(5.6.13) IsHO 20l 6) (5.6.17) (1.2.5.6.12.13.15.18)
- HHE—ZIXI9) (5.6.7.18) - ChAIOIR=(5.6.18) B =2 X1 (9) - 522 X(9)
cAHS - &48HX1(9) - 2+ D1(9) 2001 A3 - 2S04
- S1H(5) - ESEAA (1.2.5)
(2.5.6.9.12.13.18)
< 2(oIu)(2)

AEY (AQ) AEY (AQ) AEY (AQY) AEY (ARQY) AEY (ARQY)
[&=gH] [&=gH] [222t0|A] [&=8H] [&=8H]
JISHEM(AELE) JISHEM(AETE) JISHEM(AELE) sy EM(ZELS) sy EM(ZELS)
(10.00kg) (10.00kg) (10.00kg) (10.00kg) (10.00kg)
JIEH(EIIE)/EEE (1.00kg) |IIZ(ZIIF)/Z&A (1.00kg) [£2F (39.00kg) JIZ(ZIIH) /&2 (1.00kg) [IIZ(EII1Z)/ZZH (1.00kg)
QUM (eHD|) /RIS (47.00kg) |M(EH0])/EIBEH (47.00kg) |S2/MIEE2A (9.00kg) QUM (BH0|)/ZIBHE (47.00kg) | (8H0|)/EIEAE (47.00kg)
Se(EE22)/28F (1.00kg) |22l(Z22l)/2&tA (1.00kg) [OFs/ZEMH(22A), BXM |22 (Z22l)/&F (1.00kg) |22(Z222l)/2&tA (1.00kg)
S (Xbe4) /BB (1.00kg) |4 (RH44)/Z8F (1.00kg) | A (0.60kg) S (Xhgede)/EI2E (1.00kg) |44 (RH42)/Z8F (1.00kg)
E2(E0])/82Z (10.00kg) |E(S0l)/&F (10.00kg) |eus(0l)/ZEA (47.00kg) |E2(S01)/&2Z (10.00kg) |E2(&0l)/&=Z (10.00kg)
[l e [ESSHAXI2XE] A3(Z43) (0.60kg) [2HEx2] [REFR2]
2HEF(THH2HE) (0.60L) 2HEF(THHZ2HE) (1.00L) ST/ 2R H(2H2A) DEF (1.20kg) 2R/ ZEMH(2E2A) (7.00kg)
SXI/AHM A (HIE) (23.20kg) | ZRH/ZERH(2H2A) (11.00kg) 201/ Z1 8 (32.00kg) IX(8enx(g0F))/88
“EtelbiA/E2E (3.00kg) | (12.00kg) SLLEXE (4.00kg) CHAIDH/ ZRIZ(21X) (1.70kg) | & (0.40kg)
CHAIOH/ Z &I (AZ) (1.60kg) |DF(E2DF(2DF))/88 |RMMROt=2R) (5.00L) |[2/HEE2 (1.70kg) DEF (2.20kg)

S2/HI= B2 (3.00kg) 2 (0.30kg) EA(E0])/22F (10.00kg) |SHE(=SZ) (4.00kg) CEl2IHA/E & (5.00kg)
Ots/ZEMH(22), Z2XM |DF(ZEDF(H0F))/2&8d |IHEIH/ZERA(2R) Ots/ZEMM(242), XM |CHAIOH/ 22123 (AX) (1.60kg)
A (0.60kg) (0.30kg) (0.80kg) A (0.60kg) S2/HIREB (1.60kg)
SR(2EX, HY) (2.20kg) |D=F (1.70kg) DHE2IH (YO TR|3L) /&8 [HX(2ER, HY) (2.20kg) |SE(HFEZ) (4.80kg)
Al |R(EER)/HER (6.10kg) |DFIH2/24F (0.20kg) A (4.00kg) QUEMR)/HER (1.70kg) |F2/MWHE (12.00kg)
OILtel/&&d (2.00kg) X=X /SEA2IA MHE2IH(sMIERI9t) /88 [A2(R242) (0.20kg) Ots/ZEMA(2421), 22X
o HEXIZH &t/ 24 (5.10kg) (16.00kg) A (4.00kg) AU /E 2 (1.70kg) A (0.90kg)
HHZ=/&2A (12.10kg) HEM) /R, 2AROIR, (MZ2PHEMTTL) /e | STH/ZEEMH(2A) (5.00kg) |LXI (2L, HE) (2.20kg)
M2/ REH AERMA(2A) |22, AR (2AH) A (4.00kg) THCHTH) /2 E R A (2H2) SELR) /A (6.00kg)
U | (0.50kg) (1.00kg) B (ZTB) (12.00kg) (0.80kg) S/ (5.00kg)
A23(R24A2) (0.30kg) M /&EA (2.00kg) SuHhEe) /& [Q0I2Z&H] U/ A B (1.60kg)
of [23(2432) (0.40kg) CHAIDH/ 28124 (21 X) (2.00kg) | (16.00kg) PR (QLZ2PA) /2 A (0.80L) | QHIH/ZE MM (24A) (6.00kg)
Qi =/ ZI B (1.60kg) YXIDI(STrel, EX)/MHK | S=(Z24) (0.01kg) N(EM)/ 2SS, ZENMA(2E |THCHIH /ZE A (22
SO/ EMH(2E2A) (6.10kg) [ (17.00kg) [ R I At 21) (0.20kg) (1.00kg)
EJIE/34 (0.100) YRS /EE (44.00kg) LSO0IHA/ZIEE (3.00kg) |OFS/ZEMA(2A), 2RM |[SREHLRH]
= (0.90L) SIRH(MIESE) (3.00kg) T/ ZE M A (2421) (8.00kg) |H (0.60kg) D= (1.00kg)
TH(CHIH) /2 =M A (22 Ots/ZEMA(2t2), BXM |S44+SZ2 (6.00kg) HEH(AY, DtADHIE) DEIR/24F (0.20kg)
(0.90kg) A (0.90kg) SUMK(SH=2t:) (5.00L) [ (0.40kg) N(EM) /B2, BEMH(2
BOIH A /2 & (6.10kg) MZH/REBA, ZERMA(22) XX (SMAIXIX) (10.00kg) [A2(BE42) (0.70kg) 21) (0.30kg)
SoH(0HEe) /& &R (5.10kg) |(0.80kg) EOENH /MR ZE QOI(IHAIR0]) /& &+ A SIE(OI=EE) (1.00kg)
[SHRIZH A ] A2(R242) (0.60kg) (6.00kg) (21.00kg) Obs/2EMH(2A), B
AHE/ZY2 (3.80L) SHIHI(& A 2=TH) (5.00kg) |EO0FEHOIAE (3.15kg) SUMK(FH=2tR) (3.00L) |[H (0.60kg)
2R/ ZEMH(2H2A) T/ ZEMA(2A) (9.00kg) |THE2l/LRI2A(AHE) (0.01kg) [&IIS/=4F (0.200) AZ2(R22423) (0.20kg)
(10.30kg) HZ (0.90L) DY (FIY)/XNetA (7.00kg) [2ER2IHA(MSO0IHA)/E |22/32Z (32.00kg)
A0 (0.10kg) THCHOH /ZE M A (2R) TIXHE<2 (18.00kg) &3 (2.00kg) HI1S/=4F (0.30L)
HEM) /RS2, BERMA(2 [(1.80kg) AA (0.700) DHZDH /2R M (242) THETH /2 ERMA(22A)
24) (0.20kg) S (H2M) (0.01ka) S (ZZ8) (6.00kg) (0.70kg) (0.80kg)
CHAIDH/ Z2IZ4 (M X) (0.20kg) |[R2LI22E!] [CHAIOFR 2] SIR(ES)/ItET (13.00kg) |[=Et2I2tED|]
S2/HIEBE2 (3.10kg) 2HE (TR ZHE) (0.400L) 2HE(O12HE) (0.20L) Sx(F24) (0.01kg) 2HEH( LR 2EE) /24 (0.400)
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